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CD = Cross Direction

CFU = Colony Forming Unit

CVC = Chemical Vapor Condensation

ETEM = Environmental Transmission Electeron Microscopy
FTIR = Fourier Transform Infrared Spectrometry

MD = Machine Direction

SEM = Scanning Electron Microscopy

SERS = Surface Enhanced Raman Scattering

STEM = Scanning Transmission Electeron Microscopy
STM = Scanning Tunneling Microscopy

TEM = Transmission Electeron Microscopy

Titania = TiO,

UV = Ultraviolat

UV-VIS = Ultraviolat — Visibel

XRD = X-ray Difraction
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